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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4,
1) 5x112=564 2) 124x10=1,240
5.
3) 10x332=3,322 4) 535x5=2675 6.
7.
5 615x5=3,075 6) 5x751=23,759
8.
7) 447 x2=895 8) 489 x2=978 9.
10.
9) 299 x 2 =599 10) 701 x 2=1,402
11.
11) 10x 824 =8,241 12) 10x 930 = 9,308 12
13.
13) 575x5=2875 14) 505 x 10 = 5,050 u
15.
15) 10x125=1,258 16) 2x520=1,041
16.
17) 515x 10=5,150 18) 546x5=2,731 17,
18.
19) 2x597=1,194 20) 10x322=3,220
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. Yes
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. no
L J
4. YES
1) 5x112=564 2) 124 x10=1,240
5. YES
3) 10x332=3,322 4) 535x5=2675 6. no
7. no
5 615x5=3,075 6) 5x751=3,759
8. YES
7) 447 x 2=895 8) 489 x2=978 9. no
10. YES
9) 299 x 2 =599 10) 701 x2=1,402
11. no
11) 10x 824 = 8,241 12) 10 x 930=19,308 12 no
13. YES
13) 575x5=2,875 14) 505 x 10=5,050
) ) 14. yes
15. no
15) 10x 125=1,258 16) 2x520=1,041
16. no
17) 515x 10="5,150 18) 546x5=2,731 17 yes
18. no
19) 2x597=1,194 20) 10x 322=3,220
19. YES
20. YES
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